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Multiple Choice Questions

Aqueous solution of SO2 is1.

acidicA.

basicB.

neutralC.

amphotericD.

Answer

Other than the nucleus which cellular organelle contains DNA?2.

RibosomeA.

Golgi complexB.

MitochondriaC.

LysosomeD.

Answer

Person taking rich diet of ascorbic acid will not suffer from3.

RicketsA.

PellagraB.

ScurvyC.

Beri-beriD.

Answer

Which is the vestigial organ in a man?4.

Pinna musclesA.

PinnaB.

IleumC.

TeethD.

Answer

Which one of the following are acoelomate animals?5.

EchinodermsA.

AnnelidsB.

ArthropodsC.

PlatyhelminthesD.

Answer

Which of the following is not a protein?6.

HeparinA.

KeratinB.
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FibroinC.

AlbuminD.

Answer

Which type of centrum is found in the vertebra of mammals?7.

AmphiplaytanA.

HeterocoelousB.

ProcoelousC.

AmphicoelousD.

Answer

In the absence of light, what will increase?8.

Water uptakeA.

Elongation of internodesB.

Uptake of mineral saltsC.

Extension of leaf laminaD.

Answer

The enzyme responsible for reduction of molecular nitrogen to ammonia in leguminous plant is9.

Nitrite reductase A.

Nitrate reductaseB.

NitrogenousC.

All of the aboveD.

Answer

A plant forms spores, have vascular system, but does not form flower and seed can be placed10.

under

AlgaeA.

BryophytaB.

PteridophytaC.

GymnospermD.

Answer

The image produced by a concave lens is always11.

realA.

virtualB.

invertedC.

enlargedD.

Answer

The current i flowing through the cell in the given circuit is (internal resistance of cell is zero)12.
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1 AA.

3/2 AB.

2 AC.

3 AD.
Answer

If somehow the distance between the Sun and the Earth is doubled, the gravitational force13.

between them will become

doubleA.

halfB.

four timesC.

one-fourthD.

Answer

If the magnitude of vector A→ is 10 cm and the direction is North, then what is the magnitude14.

and direction of the vector -2 A→?

20 cm EastA.

20 cm WestB.

20 cm NorthC.

20 cm SouthD.

Answer

An electric charge q moves with a constant velocity v parallel to the lines of force of a uniform15.

magnetic field B. Force on charge is

qvBA.

qv/8B.

ZeroC.

Bv/qD.

Answer

The pH value of any solution that converts red litmus to blue in color will be16.

1A.

4B.

7C.
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10D.

Answer

Which type of hybridization occurs in ClF3?17.

sp3A.

sp2B.

sp2dC.

sp3dD.

Answer

Marsh gas is18.

MethaneA.

EthaneB.

PropaneC.

ButaneD.

Answer

Rusting of iron is19.

Reduction reactionA.

Oxidation reactionB.

Redox reactionC.

Displacement reactionD.

Answer

Petroleum is refined by20.

simple distillationA.

fractional distillationB.

steam distillationC.

vacuum distillationD.

Answer

Which one of the following is known as Bayer's Reagent?21.

Dilute alkaline solution of potassium permanganateA.

Concentrate acidic solution of potassium permanganateB.

Acidic solution of potassium permanganateC.

Neutral solution of potassium permanganateD.

Answer

Most appropriate formative task to assess the student's understanding of data analysis is22.

Role playA.

CrosswordB.

Survey-based projectC.

QuizD.

Answer
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The projectors which are used to show opaque figures and pages of books are called23.

EpidiascopeA.

TelescopeB.

BioscopeC.

RadioscopeD.

Answer

Which of the following is not an activity-based teaching method?24.

Demonstration MethodA.

Observation MethodB.

Heuristic MethodC.

Lecture MethodD.

Answer

Do we use to perform which of the following to test a hypothesis?25.

ExperimentA.

ExaminationB.

EvaluationC.

ResultD.

Answer

'Inquiry method' is also known as26.

Problem-solving MethodA.

Collection MethodB.

Heuristic MethodC.

Classification MethodD.

Answer

While teaching "Flower of Brassica campestris", which of the following would be the best-suited27.

method?

Observation MethodA.

Lecture MethodB.

Field Trip MethodC.

Discussion MethodD.

Answer

The vertical component of Earth's magnetic field is zero at28.

magnetic polesA.

geographic polesB.

everywhereC.

magnetic equatorD.

Answer

Which is the formula of potash alum?29.

(NH4)2SO4 ⋅ Fe(SO4)3 ⋅ 24H2 OA.
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(NH4)2SO2 ⋅ Al2(SO4)3 ⋅ 24H2 OB.

K2SO4 ⋅ Al2(SO4)3 ⋅ 24H2OC.

K2SO4 ⋅ Cr2(SO4)3 ⋅ 24H2OD.

Answer
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